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Ahmad has Rs.999 and Bilal has Rs.1,111Q1.
How much money does Bilal need to give to Ahmad, so that they would have 
the same amount of money?

A B C DRs.1 Rs.51 Rs.56 Rs.91

If 1 gram of grass seed is needed to plant 1 square meter, how much grass seed
will be needed to plant an entire field that is 110 meters long and 70 meters 
wide?

Q2.

A B

C D

In the quadrilateral ABCD, angle A is 120 degrees, angle D is two thirds of 
angle C, and angle B is 90 degrees. Find angle C.

A

B

C

D

120º

  60º  45º 40º 90º

Q3.

A B C D

Brad mixes seeds to attract birds. His blue mix is 55% sunflower and  45% 
bluegrass. His Rye mix is 30% sunflower and 70% ryegrass. His Master mix 
combines some of each of the Blue and Rye mixes. If Master mix is 45% 
sunflower, how much of each kg of Master mix is Blue mix?

Q4.

360 g 400 g 600 g 650gA B C D

X is a whole number.
X + 7 is greater than 33 and X - 7 is less than 22.
Find all the numbers that X could be.

A B C D

Q5.

None 27 28 27 and 28
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Q6. Two cousins visited Jane today. One cousin visits every 42 days. The other 
        visits every 429 days. They will next visit on the same day in __?__ days.

4296 6006 9009 18018A B C D

Q7. The measure of the smaller angle formed by the hour and minute hands of a 
        circular clock at 2:46 is

 84º  137º  167º  174ºA B C D
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Fish sold

Q8. This graph shows how the number of fish remaining in Harry’s fish tank depends
        on the number of fish he has sold.

A B C D8050 110 120

Q9. A store purchased a microwave for £ 100 and marked it up 50%. Martin makes
       a 4% commission on all of his sales. How much commission did he make when
       he sold the microwave?

A B C D6 84 9
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Q10. If I multiply all whole numbers from 1 through 100, the largest power of 4 
        that is a factor of the product is 

A B C D25 4 32 4 48 4 50 4

Q11. 200 employees work for company XYZ, where the ratio of men to women is 11
         to 9. If 30 men leave the company and 10 women are hired. What is the new
        ratio of men to women?

A B C D5/44/5 9/10 9/11

Q12. Of my books, 85% are new and the rest are used. Some are biographies, 70% 
         of which are new. What is the ratio of the fraction of new books that are 
         biographies to the fraction of used books that are biographies?

 7:17 14:17 17:14 17:7A B C D

Q13. Mr. Barry is angry. He has 4 grubs left after he tried to divide 256 grubs 
          equally among his cubs. There could be __?__ cubs.

 5  6  8  11A B C D

Q14. John started a business in which he earned Rs.100 for the first day. Rs.500 on
         the second day. Rs.900 on the third day. Rs.1300 on the fourth day. and so on.
         What is his earning in day 1000?

A B C DRs. 399100 Rs. 399700 Rs. 400000 Rs. 400500
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Q16. Today is my birthday. My age today, in months, is 72 times my age 5 years ago,
          in years. My age today, in years, is 
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Q15. The diagram shows two sets of number: set A and set B.
          Find the correct descriptions for sets A and B.

A B

C D

A = even numbers; 
B = odd numbers

A < 13 ; B > 9

A < 10 ; B > 10 A = red ; B = green

 6  7  8  12A B C D

Q17. An actor was informed how many fan letters he received each day.
          What is the mean of the numbers?

A B C D4 5 20 none of these
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C 9 years = 109 months

A 9 days = 216 hours B 9 weeks = 63 days

D 9 years = 36 quarters

Q18.  Which statement is NOT correct?

Q19.  Two trees of height 20m and 30m have ropes running from the top of each 
           tree to the bottom of the other tree. How high above the ground do the 
           ropes intersect? The trees are 40m apart.

B

E

D

h

b F

30 m 20m

A C
40m

A B C D 6m  12m  18m  24m

Q20.  The number halfway between 45674567 and 67896789 is

  55443322   55556666   56565656   56785678A B C D
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Q22.  Gerry had 24 LEGO bricks and Jane had 6 Bricks. Gerry gave some of his bricks
           to Jane so that she ended with twice as many bricks as Gerry. How many bricks
           did Gerry give to Jane? 

A B C D12 Bricks 13 Bricks 14 Bricks 15 Bricks

A B

A B C D 1.0  1.5  2.0  2.5

Q21.  Two gear wheels A and B are in contact. One wheel (A) has 36 teeth. the 
           other (B) has 24 teeth. How many times must the smaller wheel turn before 
           the larger wheel completes a revolution?

Q23.  The tenths digit of __?__ is larger than its hundredths digit.

 543.21 231.23  654.56 642.46A B C D

A B C D 36027018090

Q24.  The diagram shows a convex polygon.

What is the sum of the exterior angle measures, 
one at each vertex, of this polygon?



Mars and Venus togetherA

B 100 “ Moons”

C 10  Mars

D Earth

Q27.  The mass of Earth is 5.9742 x 1024kg.
           The mass of Venus is 4.8685 x 1024kg.
           The mass of Mars is 6.4185 x 1023kg.
           The mass of Moon is 7.3477 x 1022kg.
           What is the smallest mass from the following?
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Q25.  I wear my headphones only on cloudy days. the day after each cloudy day is 
          a sunny day. How many tines a week I wear my headphones?

 3 times  4 times  5 times  6 timesA B C D

A B C D 5432

Q26.  Tessa bought 8 postcards during 2 days of vacation. How many days will Tessa
           have to spend on vacation before shw will have bought a total of 20 postcards?
           Assume the relationship is directly proportional.

Q28.  If my doctor’s “IN” sign is a square with a perimeter of 4, then its area is  

A B C D 16841



A B C D2.25 kg 28.5 kg 32.5 kg31.5 kg
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Q30.  Alex, Bill and Craig have a combined weight of 111 kilograms. Alex weighs 44
          kilograms and Bill weighs seven-eighths of Alex’s weight. What is Craig’s weight
          in kilograms?

Linoleum

Tile

2
5

1
10

1
5

3
10

Q29.  Dodson’s Flooring sponsored a survey about home flooring preferences.
           Which list is arranged from the least popular flooring to the most popular
           flooring?

A

B

D

C
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